Which generations of computers are currently running?
(a) 4th

(b) 5th

(c) 6t

(d) 7th

Which one below is not a computer?

(a) PDA

(b) Laptop

(c) Smart Phone

(d) Digital Watch

Which one below is not a basic computer operation?
(a) Inputting

(b) Processing

(c) Printing

(d) Controlling

Identify the auxiliary memory of computer from below-
(a) RAM

(b) CD Disk

(c) ROM

(d) Cache

Which one is the brain of computer?

(a) CPU

(b) ALU

(c) cu

(d) com

1MB=__ Bit?

(a) 8000011

(b) 8500000

(c) 8564720

(d) 8388608

Which one below is less costly?

(a) Pre-written software

(b) Customized Software

(c) Developed Software

(d) None of them

Decoration light is one of the example of below-
(a) Middleware

(b) Firmware

(c) Both of them

(d) None of them

What contents are typically being hold by Memory Buffer Registers (MBR)?
(a) Read



(b) Written
(c) Both of them
(d) None of them
10. Which one below is not a basic types of ROM?
(a) PROM
(b) EPROM
(c) EEEPROM
(d) UVEPROM



